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FACULTY OF COMMERCE
om. (First Year) (Second Semester) EXAMINATION
OCTOBER/NOVEMBER, 2016
BUSINESS MATHEMATICS AND STATISTICS
(MCQ + Theory)

(Saturday, 15-10-2016) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— () Solve question No. 1 on OMR Sheet.
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Question No. 1 and question No. 2 are compulsory.
All questions carry equal marks.

Simple calculator is allowed.

9% %A% 1 OMR Sheet %9 Hrsd.
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MCQ 10
Base year price and Current year quantity is shown by :
(A P B)  poa1
© P19y D) pogo
YR gu=l fhaa enfor =me] auf=h wBn ®ven wEm geifad W ?
(A P19y B)  peaq
©)  pi19q D) peao
Which index is known as Ideal Index ?
(A) Laspeyre’s Index (B) Paasche’s Index
(©) Fisher’s Index (D)  Dorbish and Bowley’s Index
Sl e steel fdene =@ Sfeeren S ?
(A) A e (B) UrEEn e

~

(C) fTwrs=n v (D) <& g deel I e
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(itz) When the interest taken on interest is known as :

(A) Simple interest (B) Compound interest
©) Commission (D) None of these
SR SASIER S SAS ST o@D QG oo TEUAT.
(A) W@ AN (B) Thdl@ AN
(C)  wHHRH (D) =Rden! e
@iv) A matrix having only row is called :
(A) Row matrix (B) Zero matrix
(®)) Column matrix (D) None of these
S RO WA T G ST R e TEUT.
(A) eI WX (B) I XU
(C) =Y 9t (D) Sden! TS
(v) In how many ways can the letter of the word ‘MARCH’ be arranged ?
(A) 420 (B) 320
©) 220 (D) 120
‘MARCH’ 1 vear=it 31&R fohdl f9=1 bR shHeR T=ar Adia ?
(A) 420 (B) 320
©) 220 (D) 120
(vi) Find the value of 8 ! :
(A) 40,310 (B) 40,320
©) 40,330 (D) 40,340
8! 9 HoI Wl :
(A) 40,310 (B) 40,320

(©) 40,330 (D) 40,340
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How much is the brokerage of a broker at the rate of 5% if transaction
amount is Rs. 12,500 ?

(A) 610 (B) 615

©) 620 (D) 625

ThT SR SIS & 5% U4 12,500 TIIM=a1 FasR TIer fhdl B5ad ?

(A) 610 (B) 615

©) 620 (D) 625

Find the value of 10 :

(A) 110 (B) 120

©) 130 (D) 140

10, <& 9eg e .

(A) 110 (B) 120

©) 130 (D) 140

One coin is tossed at once. What is the probability of getting a head ?
1 1

(A) T (B) 5
1 1

()] 3 (D) 2

T db Teh Faaht 29 Sk W ge Hevasl gy fodr ?

1
A 7 (B)

1
1 2

1 1
C) 3 (D) 1
An agent sold Rs. 7,000 worth of some articles on a 2% commission
basis. Find his amount of commission.
(A) 120 (B) 130
) 140 (D) 150
ThT TSeM 7,000 & ATl Hig! 9] 2% HHEHER faehedd W=t o=
{FhH <hlal.
(A) 120 (B) 130
(®)) 140 (D) 150

P.T.O.
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Theory
2. Construct the Fisher’s Ideal Index Number of price from the following
information : 10
Commodity 2012 2014
Price Quantity Price Quantity
A 14 10 15 12
B 16 08 27 10
C 10 15 22 04
D 13 12 14 15
E 25 07 25 08
Eelte Wifedioed freRen eyl fasns #el
T 2012 2014
feraa el feraa el
A 14 10 15 12
B 16 08 27 10
C 10 15 22 04
D 13 12 14 15
E 25 07 25 08

3. A bag contains 10 blue and 08 white balls. If two balls are drawn at random,
find the probability that : 10
@) Both are blue
(i) Both are white
(@iz)  One is of each colour.
T G 10 13 T 08 Uit Hg oMRd. S dF dg Jayuiell UgdH weedd
G) 3=l g e
Gi) SR Tg TR

N oA

(iif) = e T AT §YeIdl Hifgd .
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Find the value of :

' 151
@ as-3)
61
@) oo
o Wl
. 151
@ 53
61
@) G

¢ 5)

(fenam)
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4. Find the compund interest the amount of Rs. 40,000 at 5% per annum for

3 years.

10

40,000 FHAE 5% TIH 3 TGS T[afael THAT N TR Ahae-ATS Fel.

If :

|
Solve : (A + B) + C =
IS o

.

Or
(fenam)

6 16 10 8 4 2 4 5 8
B= C=
8 10 4 6 12 16 1 6 9

B + C.

6 16 10 8 4 2 45 8
B = C=
8 10 4 6 12 16 169

Hedl: (A+B)+C=B+C.
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